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Warm Up
Evaluate each of the following:
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This one requires a clever strategy...see if you can figure it out??
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Practice...
Page 498

#3 - 24 (odd numbers)

Bonus

 
Answer....NOT A CHANCE I move this box today!!!
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Review of Integration...

Evaluate each of the following:
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Integrals Involving Trigonometry
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These identities look familiar??

They might help with one like this...
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Integration using Trigonometric Substitution

• Method of integration used to evaluate 
  integrals involving...

• Express θ as an inverse trigonometric ratio

Example:
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Example:
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Average Rate of Change

The graph above shows the total production of suits by Raggs Ltd. during one
morning of work. Industrial psychologists have found curves like this typical of the
production of factory workers.
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L. What was the hour-by-hour production for the morning?

[ Time 8-9 9-10 10-11 11-12
#suiTs}

2. What was the average hourly production from 10AM to 12NOON?

What is the slope of the segment RT?

3. What was the average number of suits produced per hour from 8AM to 12
NOON?.. s

What is the slope of PT?

4. What conjecture can you make about the average production and the slopes of
the secants?
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1. Find %{ in each case.
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I. y = sin(tanx)
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a. y = cot2x + csc2x 2x cotx
¢ y=(x+ cscx)? = V@? + cscix
e. y=3cotVar+ 1 f. y=

cot? 2x cse 2x
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i cot(x +y) =2y Jo cotxy’) —4y +3=0
tanx — 1
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tanx + |

= (cotx + sinx)*







The following questions are for educational (or entertainment) purposes.  


Use these questions as you feel necessary.
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40.
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